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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before
vou answer the questions on Answer Sheel -

.

_r'_'l

The answer sheets for Part-1, Part-11 &
Part-11l are different. Remember you have to
mark you answer on related answer sheet,

Write Roll No_as given in admission card on this
Cluestion paper as well as on the Answer sheet.
Write all the Nos. in English numbers only, Write
only one digit in one block

This question paper contains three parts. |-Pan
contains |-50 questions of mental ability. [[-pant
contains 1-30 questions in Hindi language and
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13.

1-50 questions in English Language, The
candidate has to attempt this test only in one
language i.e. either in Hindi or in Enghish. Mark
the language opted by vou very carefully on the
answer sheet, [11 part contains 1- 100 Questions,
each Question carry one mark.

Every correct answer will be awarded one mark.

Since the time allotied 1o the two parts of this
Question Paper is limited, vou should make the
best use of it by not spending too much time on
any ane guestion.

Solve the Part-1 (Mental Ability) of the
Cuestion Paper by 11.45 am and related Answer
sheet quickly sumit to the Invigilator, Part-T11
(Language) paper should be sholved by 12.45
pm and Answer sheet submit to the invigilator
Answer sheet Part-1I (Scholastic ability)

should be by 2.30 pm. and answer sheet should
the submitted on previcus manner.

The last page of this Chuestion booklet 15 meant
for Hough work.

Method of marking Answer -

To answer a question, please darken one bubble
out of the given four, in the OMR Answer Sheet
against that question.

Use only Black / Blue Ball-point Pen to
mark the answer.

Use of any calculator, log tables or any other
electronic Gadgets, Mobile phones is prohibited.
Valuation procedure -

There are four alternative answer to a question,
onhy one of them is correct answer, [f more
then one bubble are darkened for a question, it
will be presumed that the candidate does not
know the correct answer; hence, no mark shall
be awarded.

Handing

Invigilator -
Please ensure that all entries in the answer sheet
are filled up properly i.e. Name, Roll No,,
Signature, Question Booklet Mo, language, eic.

Care in Handling the answer sheet -
While using answer sheet adeqguate care should

be taken not to tear or spoil dee to folds or
wrinkles.

Please return only Answer-Sheet to the
invigilator after the test.

English version of the question paper will be
considered as final in case of any dispute ansting
out of variation on translated version,

over of Answer Sheet to
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PART-1, MENTAL ABILITY

Fodon: Wy S 1A 5 O UF AgE o E e
T B WP 5E ¥ 59 vemreE fa ( 7) @ weim o
¥ 1 9% e 2 T an e 0 R v 3% i

1. 2.5 11,2347, 7
(A 77 B) a7
(C) w95 (M Be=

2., 3,154 165 17,6, 7.7
(A) 12 (B} 13
i R L (D) 18

Y. 2,6 12 10 30, 7
(A) 46 iB) 48
(C)y az (D) 40

4. 68 81, 96, 7, 132
{A) 105 (B} 10
(Cy 13 (I 130

5. 1, 1, & & 11, 11, 16, . ¢
{A) 16 1 (B}
(Cy w7 n ()

13 M
21, 16

fader : A o 610 A 5 T TS TR F T
WA ¥ s vrmes few Em o & R o am
forredt 4 4 v famey ot deu i & S s o
2 o Wi ST Tl T el & e ¥ we fasen g

6, WEA HE oI 7
(A) & (B) Fnfema
(C) W (D)t = Fnfem

Directions: In question nos 1 to 5 there is a number
series with one term missing shown by Question mark
{7} This term is one of the altermnative given, Choose
that number,
1. 2,5 11, 23, 47, 7

(A) 77 (B) %7

(Cy 9s (D) as

2. 3,15 4, 16,5 17,6, 7, 7
{A) 12 (B) 13
1Cy 13 D 18

kA 2, 6, 12, 20, 30, ?
(A) 46 By 48
(C) 42 (D) 40

4. 68 81, 9, 7 132
(A) 105 (B) 110
(Cy ma3 (Dy 130

&, 1, 1.6 6 11,11, 16, 7, ¥
(A) 16 21 (B)
) 17, (D}

13, 1
21, 16

Dvirections: In Question no. 6-10, there is a
guestion mark in the blank space and it is only one of
the four alternatives given under the question which
satisfies the same relation as is found between the
two patterns to the left of the sign : given in the
question. Find the cormect alternative.

. Elboma : wrist s knee: 7
(A) Ankle (B) Fingers

(C) Foot (D) Toes

P.TO,
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12,

14,

rae :‘-'IE::'{'EF i
(A) ===
AS -

(B) ¥
Dy =

ﬂﬁ“:#ﬂ::ﬁlﬁ:?
(A) = (B) &
(C) wm Dy =m

BVSC: YEHX : MRCP: 7

(A) NIXK (B) LEXM
(C) NIXK (m DIYM
211 : 333 52355 ¢ Y

(A) 358 (B) 339
() 423 (D) 383

Aftm wt wen s F fom St wwes O E
=G T FEA g e
(A} g By ==

() = (D) T

i i W v, A T A e
1 i 8 9 & 7 W e w4

(A) = {B) wH=mm

(C) T () v

Tfe 5 wadl En @ @ =e o o e A
EAUE

(A} 3 (B) 4

(C} s (D} T 1§ A1

Hfgn = &1 g & oww 9w W A &) fame

Tt s fEma s 7
(A} T (B) ==
(€ (D} ==

[4]

12.

13.

14.

Food ! stomach & fuel - 7

(A) Avtomohile (B} Fngne
(€} Truck (D} Planc
Wine - grapes :: vodka : 7

(A) Apples (B) Polatoes
("} Oranges (D) Flour

BYSC:YEHX :: MRCP: 7

(A) NIXK (B) LEXM
(C) NIXK (D) DIYM
211 : 333 ;1388 1 7

(A) 358 By 3s9
{C) 423 (D) 388

Sunia’s mother is the only daughter of Ajay’s
father. What is the relation of Ajay with Sunita?

{A) Brather (B) Patermal uncle
(C) Matemaluncle ([} Father

Seema is older than Geeta, Ramesh is younger
than Seema and Sujata. Sujata is yvounger than
Geeta. Who is youngest among all?

(A) Seema (B Sujata

(C)  Geeta (T3 Ramesh

If the 5™ February was Sunday how many
Mondays were there in that month?

(A) 2 (B} 4

() 5 {1} None of these

Amit is Daya's brother. Daya is the son of
Chandra. Vimal is the father of Chandra then

how is Amit related 1o Vimal?
(A) Grandson (B)  Grandfather
{C) Brother (D) Uncle
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=T A7 AEE R T T e A F e o m
fa= Em?

(A) T
() TR

(B} wiER

(D) =ean

frefafEn § # S5 W Ha OgE A9 A9uEl o
fgm &7

ST
BOC

{A)
()

(B) XAZ
M MIN

35 BT F TF e o At WY 129 e
B TR ) oR 2591 e & Al | AR
A fEm e 7

(A} = Rs =B

<y 3 () 2

e & & =i ge | fa= 87

(A} Fm (B)y i

(C) el (D) =rm

e w8 wEen, gEn iR dwn e s
wfrnfe =1 fem = v @ 27

(A) 30 {B) &0

(Cy a5 (D} 115

FiEm A T uE H 10w e ¥, e sl
At gEmt 3 W e s wfe e gEe
wE T R smAE A A fEE g R

(B) 24 W
Dy 4%z

(A) 27 WiE

{C] sw=
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15.

16.

17,

18

14,

20,

If today is Monday. After 61 days it wall

be -
(4) Wednesday (B)  Satrday
(C)  Thursday (1) Tuesday

Which of the following letter-group is different
from other groups?
(A SUT

(€ BOC

B) XAZ
(D) MIN

In a row of 35 students the place of Bobby is
1 2® from the beginning. The place of Ratan is
25" from the end. How many students ane

there between Bobby and Ratan?
(Al Zero(None) (B) 1
iy 3 iy 2

Which of the following does not belong: toothers?
(A} Guitar (B} Wiokn
(C) Flute D) Harp

The number of ways i which first, second &
third Prizes can be given to 5 competitors.

(A) 30 {By 60
(C) 45 (Dy 125

Kavita walks from A in the East 1 feet. Then
she tums towards right and walks 3 feet, Apain
she turns towards right and walks 14 feet. How

far is she from A now?
(A
(C)

27 feet
5 feet

([ 24 feet
() 4 feet

P.T.O.



Mo srs 1G5 f o Fum gy § 9
et #1 g % T R 7, 04 A
T # A -

Z1. Wﬂﬁﬂ?ﬁ-ﬁf—
¥ = —— .
O O] 2]
T ST — B -
Cw | D
A & T B
22, U S —
- o2
e el |
20 180 u::}gr::- E’JED
A B C D
23, Um o —
Pld] [4]?
T T —
SIPIRL
A B C D
24, W SARETTE —
O3] O] 7
THE SR —
B OO0
A B C D

|&]

Directions: In Question Nos 21 to 25 there are
two shapes in first part of the Question. Second part
ol the Question contains only one shape, choase 4th

shape from answer shapes,
21, Question shapes -
| JD | ?
J"'._n.w;r shapes -. - .
A 1} C 0
21, Cuestion shapes -
= | e]?
Answer shapes —
coloo| &+]~9.]
b
A B C [
23, Question shapes—
Answer shapes —
&8 B O C D

24, Question shapes —

olQ] [0]?
NEle

B C

A 9
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c D
Frdor: wrs wle 26 & 30 9% v 21 s 6 w5

way ¥ w0 Hay R e 1 vEn g e A fasi 5 g
e Fars wifecd -

26. ?
FER | B |6 | <)
ITA.& \7 ?
NJA[V]
"X (X 1]
< =Y

171

25.  Question shapes —

B

Directions: Question Nos 26 to 20 have a certain
relation with each other in first two figures. Bearing
that relationship in mind, pick up the fourth figure
from the answer figures —

26.

?

i (B[R [

27. A A V ?
>
I X1
>



et fam —
e
T ed V| |l ?
I Tam —
A =1l
A B C D

W ®. 31 B0 . 35 § Fren wman & amm W 3w
Hfw -

1TES5F47 1258365927 0645291206
4123514283

31, =W awed siw i i s
(A) 3 (B) 1
(Cy 2 Dy 7
32 i Tend 5 8 Pl ote o ow ¥, ees g
5/ FRE?
(A) = (B) TE
(€1 = my =
33, e o F Torrds i weet v e ks am
om Tamm Hem &7
(A) =% T (B) T
(Cy = (Dy =

18]

29,
-+ | — == 4
Answer figures -
A B C D
30,
V| |5 °?
| g
Answer fipures —
A X FK
A & C D

Omn the basis of following armangement give answers
of 31 to 35 -

1RB5947 1280365927 6452912%6
4123514283

31, Which digitis the 5" left of 12° from right”?
(A) 3 By 1
(C) & my 7

32. How many 3 are there in the arrangement
immediate after which is the digit smaller than
57
(A) DNone (B Che
() Tw (D) Three

33.  Howmany 4 are there hiaving an even number
imnmediate before itand odd number immediate
afterit?
(A) None (B} Ome
() Twa (¥ Three



34,

33,

6.

AL

I8,

mft o0 o Frem fEn wnd @ =Een & A a8
(A) 9
(i) 1

(B] 5
(i 3

Fuire = 1 0E fae 1 # e | ues %

T T O g A

(A) ==l (B) TF
(Cy = o #=
fan e H s famm &7
(A) 8 B} 12
{C) 14 M s
fad o fa & el wem | 2 #7
(A) 14 (B} 18
(C) 10 (D 20

49 we fasi =1 AL B, C 79 D 31 =900 7
® ) f e Fam S e v A o e
Haw =i Tam A

34

35,

AT,

35

After removing all even numbers Tth number
from left of the arrangement is-

(A) 9 By 3
(Cy 1 Dy 3

How many | are there in the arrangement
having complete square immediate before it”?
(A) None (B} One

(€} Two (1) Three

How many tnangles are there in the following
figuare

(A) 8
() 14

()
(D)

12
16

How many sguares are there in the [igure belowT

14
1]

(A)
[

{B) 16
(M) 20

Griven below are four diagrams represented as
A, B, C and D from the following diagrams
which diagram represent a correct relationship
between these words given below?

Women, Teacher, Doctor

c%@ & @ ©

[9]

P.T.O.



(A A il B
) C (o D
39, g @ ¥R-m fam ofem, W 3 =EE T
HEI HEY R T R Y
"6 » @
—
40, et 1@ wrm & wE fawew gi)
T I T
.-":'] B / 4 |19 I{ II.-"';':- :I;q\'xl
x-ll 1 g:‘: 13/ \7¢ ‘l | _I
(A) 30 (B) 24
(C) 18 0y 12

Fren, Wt AT 41 W 45 § i m fawed 6 A

HAT N5 ;IR (T i

41. DEF : EFD ;; FGH ; ?
(A) FHG (B HGF
(C) HFG D) GHF

42, AFB : CYD =2 EXF : 7
Ay GWH B FGVY
My TMR iy Q8V

43, wWEETE o ovim oo oW ;7
(A) = By A=t
(C) =rEm (D) guEn

(A} A By B
(Cy C D D
39. Choose the diagram that illustrates the
relationship of females. mothers &
posigraduates,
.@ ®) .@
(@ o &
40. Choose the comect option in the following.

(617 al9y /8]3)
M2i13) 3613/ \2 11/
(A 30
wy 18

(B) 24
oy 12
Directions: In Question Nos 41 to 45, select the

related letter/word/number from the given
altermatives :

41. DEF : EFD ! FGH : 7
Ay FHG By HGF
(Cy HFG (D) GHF

42, AFYB : CYD :: EXF : 7
(A) GWH (B) FGV
(C) TMR D) QSV

43. Maharashtra ; India :; Texas : 7
(&) Canada By Mexico
{C]' E{ﬂl '[n'l' U.S.."\.



44.

46.

47.

48,

43,

i = fagre
anuieEfe

(Al
(B)
{C)
{1y = faaet

58 Qg A8 eEE 7
(A)
i)

43 iH} 49

53 (D) =&

e mm =12 o PAINT %t RCKPV 3
STOMP =1 UVQOR e s #1509 w12 §
HELPS = forman = |

(A} JGNRU (B) GINRU

(C)y KONRU (D) JGNSU

T ftaw # T =EhE, T U, 19 O
ufrrl i w13 & gfEn e e )

o ® 5 fam T 7

Ay 12 (B) 13

(C1 15 (Dy 17

FA W 2R wE o et e e wme
{A) HFER (B) vEFeEr

(C) AR (D) e

form mm & 15w 15 o i 216 B2
(A) 100 (B) 120
(Cy 140 (1) 180

Th 15 T2 39 T ThEl th o ® el i
WA T o T A T ) W TS et
B

(A) 3139
(C) afzasgw

(B) s =639
(D) 892 4%«

44,

45,

47,

49,

50,

Heant : Cardiologist :: Kidney : 7
(A} Endocrinologist

By Orthodontist

i1 Mephrologist

i

Neurologist

5:36 6.7
(A) 4K
(Cy 50

(B)y 49
(D) 56

Inacertain code PAINT is coded as RCKPV
and STOMP 15 coded as UV QOR. What will
be the code of HELPS?

(A) JGNRU (B) GINRU
(C) KONRU (D) JGNSU

A family consisted ol a man, his wife, his three
sons, their wives and three children ineach
son's family, How many members are there in
the farmly?
(4 12
() 15

13
17

(B}
(E2)

Last day of a century cannot be -

{A) Monday (B} Friday
(C) Tuesday ([ Sunday

I+ of I% oF which numberis 2167

100
140

120
180

(A)
(C)

(B
(D)

A 25 feet 6 inches long picce of wood iscutto
make three pieces of equal length. The length
of each piece 15~

{A) BA.1inches
{C) BA. 3inches

(B) B 6inches
(Dy B L 4inches

1]

P.T.O.



ENGLISH
Directions: Questions 1 to 10 5. of the boys gave a rupee to
Choose the word which best fills the blank from the bepgar.
the foarr options given: (A) Every (B) Amvone
(Cy Al (D) Each
1. The Colone| his brave
soldiers. 9. The Himalayas the highest
{A) ordered (B) ordered to mountain ranges in the world.
(C) requestedto (1) said that (A} B (B) are
{C) am (D) can
2. lwas by the maddening
behaviour of the clerk a1 the post office. 10, A wise enemy is than a
(A} impressed  (B)  infuriaed foolish friend.
(C)  delighted (D) admired (A) pood (B} better
(C) best (D) none of these
3. | plaved foothall
(A) today (B) Yyesterday Directions: Questions 11 to 20
(C) tomorrow () tonight Choose the most appropriate word to fill in the
blanks.
4. Iwasnot hungry. | had just my
lunch. 11.  Alexander was taken with the
{A)  have (B} nothave question.
(') not had {Dyy had (A) aback (B) for
(C) mugh (D) rde
5. The dog was jumping around me,
my face and hands. 12, My school building is bigger my
(A} licking (By liking house,
(C) leaking (D) loocking (A) then (B} den
(C) than (D) that
6.  When Necta_ to my home yesterday '
[ was writing a letter. 13. Lifeisancternal teacher for of us.
(A) come (B} hascome {A) none (B) all
{C) wascoming (D) came {C) some (D} any
7. llast went to a wour two years 14. lclaimtobe to none in all Paris,
(A) before (B) ago (A} first {B) second
(C) after (DY) then (C) third (D) fourth
(17 P.T.0.
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15.  Winners should not laugh the losers.
(A} on (B) over
(C) at M m

16, | hadto go the work

(A) wite (B) sght

(C) site (D) slight
17. My brother is a doctor.

(A) oldest (B} older

(C) senior (1) eldest
18. Dr. Abdul Kalam had a desire

to fly.

(A} long-cherished

(B)  dormant

(C) el

(D) feeble

19, Do not search for Godin places.

(A) clean (B) vague
() ohscure (I} known
20. Do not o have wanted things in
life.
(A} aspire (B) expire

{C) ceascfire (M) none of these

Directions; Questions 21 to 3, The following
passage contains numbered blank spaces. Fill in the
blanks wath the appropriate word given in each case.
Students who are very fond of reading are 21 labelled
by their companions as 22. This criticism generally
comes from 23 who consider 24 better in sports.
Students who shine in athletics or in pames consider
that it is 23 to spend time and energy in 26 arena
than in a classroom or at 27 desk. All the same they
do envy their 28 who shine academically. Academic

honour has a glamour 29 15 unique:. It s not to be 30
that playving pames 15 a useful and healthy activity.

21. (A) just (B) often
(C) now (D) never
22. (A) readers (B} book-worms
() fellows D) frends
23. (A) students (B) readers
(C) writers (I} none of these
24. (A) them (B) him

(T themselves (T hirmseli

25, (A) bener (B) greater
(C)  healthier (I finer

26. (A} areport (B) asporn
(C) aport (D) acoun

27. (A) write (B} read

(C) reading (D) fine

28. (A)y fellows (B) juniors

(CY  senior (D} none of these
29. (A) who (B) whose

(C) which (D) why
30. (A) refused (R} denied

(C) declined (D) refermed

Directions: Questions 31 to 40, Fead the following
passage carefully and answer the questions given
below it.

Emperor Ashok was one of the carliest Indian
monarchs who planted shady trees on roads and in

[18]



public places. The Moghuls, too, realized the
necessily of shade on the roads which they
constructed. Bur there was no conscious planning
and the peepal. hanvan and pakur trees were
indiscriminately mixed with neems, tamarninds and
mahuas. It was only in Kashmir that they showed
some preference for planning and planted magnificent
avenues af chinar along the banks of the river Thelum,
which can be seen at their best at Ganderbal and
Mattan on the way 10 Pahalgam,

A plantation plan for our national, state and
district highways is urgently needed. At present our
roads are planted by the P. W, D, engineers who are
ignorant of trees. Ultimately, the planting of new trees
and replacement of dead trees is left to pardeners
alene who plant any tree which comes handy. The
result has been unfortunate and our roadside avenues
have become a mixture of odd trees.

3. Who was one of the earliest Indian Monarchs
whi planted shady trees on roads and in public

places™
(A) Ashok {B) Moghul Empire
(Cy PW.D, ([} Engineer

32, Thewornd ‘monarch’ has been wsed for
(A} Emperor Ashok

(B) Moghuls
(LY Enomeers
(¥ MNone

33, ‘Public places” means
(A) open places
(B}  places open for public
() places of public interest
(D) places to be used by public

4.

35,

37.

38,

39,

40.

[19]

Who realized the necessity of shade on the
roads after Ashok?

(A) Thepublic  (B) TheMoghuls
(C) Theengineers (D) None of these

Planting of trees was first planned in

(A)  Kashmir (B} public places
(C) states (D) MNone of these
Al present, who plans the roads”

{A) The government
(B) TheP. W.D,
(C) The state

(I3)  Engineers

The avenues of chinar are to be found ;
(A) onhighways
(B) on statc ways

(C) inpublic places
(D) Along the banks of Jhelum

What do “tamarind” and ‘mahua’ represent”?
(4) MName of the rees

(B) Name of the roads

(C) Name of the places

(D) Name of the river

The word “ultimate]y” means
(Ay firstly (B} lastly
(C) finally (D) finely

The planting of new trees and replacement of
dead trees is lefl to gardeners who plant?
(A) Systematically

(B} Methodically

{C) any tree that comes handy

([} nothing

P.T.O.



Directions : Questions 41 to 50, Fill in the blanks
with appropriate words given at the end.

41.

41,

Fabindranath Tagore was awarded the Nobel

Prize for

(A) History (B} Science
(O Music () Literature
she is a nurse nor a doctor,
(A) Either (B) Or

(C) Neither (D) None

The patienthad died ____ the doctor came.

(A} before (B} after
{C) just () soon

Mitin is richer his elder brother Sachin,

{A) as (B) than
(C) then (D) with
He played cricket | worked,
(A) and (B} but
(C) m (D} test

47.

49.

50

Just look after my luggage while I go and pet
the ticket from the

(A) Book office
(B) Booking office
(C) Office

(D} Mone of these

He is sad but hoping for the .
iA) Last (B best

{Cy Jest (D) MNone of these
The bird the branch.
(A) flew on (B) fell

(C) flew off (D) Newof
Which house did vou live 7
{A) on (B} in

(C) into (D) at

The dog jumped the river.

(A) in (B} into

(C) with (D) on
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PART-III, SCHOLASTIC APPTITUDE TEST

sftfae v
PHYSICS
Py o & % = A T B 1. Whichone of the following is not a star?
(A) (B) =& (A} Sun (B} Moon
(C) wwEm () T (C} BigBear (LY Libra

wE EE gUm ow hEs g0 20 2E. %ovm 2,
eim =i = = B

(Ay 103 (B) 20 L,
(Cy 40 &= (D) R0 AW
af A, A, TEW EE U S w 3.
‘aﬁﬁnﬂﬂhﬁ.
(A) A <A, By A, =i,
(C)y A=A, (V779 & = 7w
s e gl e AR A A T
I B
(A) T HH
By a7 A
(C) wwmwea
(M T § 84 = w5 :
fr= § % w1 m i i i 9w
(A) wF= By =0
(C) == (D) =ren
oy w7 it 3 fieht e =1 v T N
(A} i (B) sHEA®
€) =fmw (D) emm
7.

2uEF A F R R A A AR BT
ar Y fom Wl 6= 104 93§ 59 fagAl
e fevErar w1

{A) 6003 (B) S04 HE

(C) 3004w (D) 1008

[21]

The focal length of a spherical mirroris 20 em.
The radius of curvature of this mirmor will be:
(A} 10em (B) 20cm

(C) 40ecm Dy Bdcm

If &, and A are wavelengths of light rays of
red and violet colours respectively then:

(A) A, <k, By A, =4k,

(C) h.=h, (I¥ MNone of these

To correct the defect Myopia or near
sightedness, we have to use:

(A)  convex lens

(B} concave lens

{C) planc glass

(D) none of the abowve

Which of the following celours is not a
primary colour’’

(A} Whie (B} Green

(C) Red (D) Blue

The image of an object in human eye 1s
[ormied at:

(A) Cormea (B} Iris

(C) Pupd (I¥) Retina

The work done in carrying a charge of 2
micre coulomb from point A o point B s
6=10- 4 Joule. The potential difference
between thess points will be:

(A) 600 volts (B} 500valts
(€} 300 volts (D) 100 vols

P.T.0.
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12

13,

20 Hire % vl # (-2 wedi = aw wErE
T # 1 whEm 2 & wey wm e fave
g

(A) 40 de

(B) 20a9==
(Cy 108w= (D) 4 =@
faq iz T T i & 9 oftefi

(A) T == = weim == 4
(B) ferepfia i =t wifas == 4
(C) wwirg == =1 Fergeira e A
Dy Feim s ot sad

wraT 7 Tagwia ot el W #

(A) Foregm srvere

(B) F=im e

(C) T amra Tm

(D) 38 & =i 74

4 simg % =m vy T w9 A W om
girereT Wi g .

(A) 4 & (B) 3 #m

(C) 2#m (D) 1 a4

VAT W WEH A A s st anafa
=1 O B 2
(A) 50 %
() 100 7=

(B) 604
D) 220%=

AL R GECE T e s e e =
T e 9Im  THA I R Al S e
(A) TSN (B) =09 "mEm

(C) e =imd B wmem (D) =m0 §

1.

Accurrent of 0.2 Ampere is passing through a
resistance of 20 ohm. The voltage applied af
the ends of resistance is:

A dlvolis (B
(Cy 10valis (I

20 volts
4 volts

Electric motor is a device which convens:
(A} Electrical energy into thermal energy
(B)  Electrical energy into mechanical energy
(C) Themal energy into electrical cnengy
(I3} Themmal energy inte mechanical encrgy

Dynamo works on the pnnciple of
{A) Electrolvsis

(B) Thermal Radiation

(C) Electromagnetic Induction
(D) None of these

Four resistances of 4 ohms are connected in
parallel. The resultant resistance will be;

{(A) 4ohms (B) 3 ohms

(C) 2ohms (T 1 ohm

The frequency of alternating current supplied
inIndiais:
(A) 50Hz
(C) 100Hz

(By 6l Hz
(M 220Hz

IFthe curmrent flowing through alixed resistor is
halved, the heat produced in it becomes:

(A1 Double (B) Half

(Cy Omnefourth {13} Fourtimes
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14.

15,

6.

17.

18.

19.

THIEIA 9
CHEMISTRY

A HT Ache & A% faerA | fAE F1 wE
AR §, T T2 T == T I 6 oA i —

(A)  TEE (B) &0
(C)y TrEr D) Fdtwnd
Al 1w —

(A} (-CH; -CH3 -)n

(© (-CR-CR-)n
(I =78 AHE T

SO, # Few WA Ht Wt
tA) 3 (B} 1
{C) s Dy &

wtefT w1 anfrewn fea —
(A) 33 g (B) defw
(C) 5 de=edfm (D) A

Cl™ = gemeifoms fa=arn = &2
(A) 2.8 7 (B) 2.8 8
{C) 2,845 (D} 2,8 8 1

CHy
|

CH; —(I-.: —CHJ £l mmfﬁlﬁﬂ.l
CHy

(a) ot ==

(B) 2, 2 sdfaums WA
(C) 2 - =
(D) 2, 3 efauEs A

123]

14.

15.

17.

15.

When in the blue solution of Copper sulphate,
aAnc stnp is dipped, after some time the colour

changes to:

(A) Pink (B) Creen

(C) Colourless (D) Remains blue
Formulaof Teflon is:

(A) (-CHz -CHa-)n

(€©) (-~CR~CF-)n
(1) MNone of these

In SO, what is the valency of sulphur atom?

(A) 3 (B) 1
L D) 6

Proton was discovered by:
jA) J.).Thomson (B) Chedwick
(C) E.Goldsiein (D) Rutherford

What is the electronic configuration of ] 7

(A) 2.B.7 (B) 2.8.8
(C) 2.8.6 (D) 2,8 8,1
CH;
I
Write the IUPAC name of CH; - C —CH;.
CH;
(A) Neo-pentane
(B) 2,2 dimethyl propane
(C) 2 -methyl butane
(D) 2, 3dimethyl propane
P.T.O.



20.

21.

23,

24,

THifeE R ¥ FEA-FE WA A RE -
Y T A R

(A) TR TETEEE Y

(B) o= wewdas d

(C) fow memaEs =y

(D) e Helt &y

fadm o & 7t = geaita faam T
(A) 18" 28 2p?

(B)
(C)
()

B gy
157,23" 2p

- SRPET NPRE WPTEr
15,25 2p~ ., 35

1st,25% 2 p°.3s'

o = T e —
(A) CaSO,

(B) ZnS0

<)
{1

CaS0,. 2H,0

CaS0,.H,0

afs fat w4 12 =EE § 1 e
waE 11§ 9 A A aeh

(B) 12
{1

A) N
{C) 23

T H oA ¥ —
(A} Cu = Sn

(BY Cu 3 Ni
(C) Cu®Zn
iy Mg = Al

20.

21.

21,

24.

124]

Which type of bond is present between

carbon-carbon atoms in acetylene?
(A)  Single covalent bond

{B) Double covalent bond

{C) Triple covalent bond

(I Electrovalent bond

What is the electronic configuration of the
elements of Il group’?

(a) 1s°,2s" 2p’

B) 1s*,25% 2p

(C) 1s*.25° 2p°,3s°
M 1s*,28% 2p°,3s"
Chemical formula of Gypsum is
(A) CaSO,

(B) ZnSO,

(C) CaSO, 2H,0

() CaSO,H.D

[f there are 12 neutrons in an atom and iis
atomic number is 11. How many protons are
present init?

(A) 11 By 12

(C) 23 o 1

Brass contains

(A) CuandSn
(B) Cuand MNi
(C) Cuand Zn

D) MgandAl



15, tfeseeE fromos T S FE I Y 25. What is the structure of aldehyde function
(&) —C=0 group?
(A) —C=0

|
@) —HO=C~H (B) -l-U:fl_: -H

i i
O
i ||
M — C-0-H @ — C-O-H
26, wifen wrlae % weim e § CO, e 26. On passing CO, gas in excess in aqueous
wfimm § vEies 09 W WE & o e solution of sodium carbonate, the substance
L obtained is:
(A) MNaOH (A) NaOH
(B) NaHCO, (B) NaHCO,

(C) Na,CO,10H,0
(D) NaCO, HO

(C) Na,CO,10H,0
(D) NaCO, H,O

[25] P.T.O.



27,

28.

30.

3l.

AL

wirg fagm

BIOLOGY

T EIEE A 128 wiEend W F fe e 27,
AT v & —

{A) 7 (B) s

C) & D 4

siraferm weiaa T — 28,
(A) fasea = (B) drFoR

(C) whtferm (D) s @

firm g wem s i ® — 29,
(A) iy (B) ==

(C) Fw=ita (D) ¥ A %1 T4

oo i & — 30,

(A) Trfen @ (B) oo &
(C) wHifE=# (D) Yt &

i ‘o' w = B — 31.
(&) -3

(B) T atem (ot

(C) whit

) @

Pt & @ wie onfl et wen om @2 32
(A) wiEdE (B) =

(C) == Dy =

farger) swidher wefion & — a1
(A) ZHET® (B) g d

(C) A (D) WA

[26]

Number of mitotic divisions required 1o
produce 128 cells from a single cell is—

(A) 7 (B) 8
C) 6 Dy 4

Obelia belongs to—
(a) Coelenterata (B) Porifera
(Cy Annclida (D) Arhropoda

In binomial nomenclature first word indicates
(A) Species (B Gemus
(C) Sub species (D) Mone of these

Whale belongs to:
(A) Mammalia (B) Amphibia
(C) Annelida (D3} Reptilia

Deficiency of vitamin * A° causes -
iA) Beri-Beri

(B} Anaemia

(C) Night blindness

(D} Scurvy

Which of the following cannot be considered
as a receptor?

(A Muscle (B) Ear

(% Eve (D} Mose

Chinko andolan is associated with:
(A) Tomatoes (B} Turtles
(Cy Trees (T Lions
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39,

e 1 9 %19 m v wm e T fm

(A}  TEHITER R

(B s = EEE

iy ==

(D =ma

=g famr &5 = e e § —
(A) TiFR=ET (B) =r=mT
(C) =fdmms (D) deEemy
o A I g —

(A) mEfE (B) =t
{C) wEm (D feuemfen
WS T HE A & —

(A) Tz d  (B) Tedstrawd
C) F=+d (D) TEEEm
FoA Al s e Bt § 7

Ay CO (B) 50,
(C) 0, (D) T Al
Frefertes 1 3 TEewa o § —

(A) FrEEn (B)

(C) = (D) %=

o w1 ArrEfaE Am -

(A} u=fziz=m §feEs
(B) TEHE HZgaw
(C) e frmmn
(D) wrfee wwifEE

3.

38,

.

40.

Which of the following is not a biodegradable
muterial?

(A Alurmimium fisl

(B)  Animal bone

(Cy Wood

(D) Cotton

The visible charactenistics in an organism ane
known as:

(A} Phenotype
(C) Stereotype

(B) Genotype
(D) Prototype

Sexually transmitted disease is :

(A) Malaria {B) Diarrhoea
(Cy ALDS ()} Hepatitis
Kreb's Cycle takes place in:

(A) Cyloplasm (B) Mitochondria
(C)  Nucleus (D} Ribosome

Acid Rain is caused by:

(A) CO (B) 50,
(Cy 0O, (D All of the above
Which one of the following is a renewable
resource?
(A} Coal
(C) Forest

(B) il
(D) Petrol

Botanical name of Margosa (Neem) is:
{A) Azadirachta indica

(B} Pisum sativiem

(C)  Cassiafistula

(I}) Brassica Compestris

1271
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41.

41,

45.

47.

48,

EAREL

HISTORY

Frefefam 4 2 ®m T foy v 1 dafia
Iuf B2

(A) TETEEs (B) =™
() =i (D) TEE
Fptatas § | S 9% 529 w=Eay @0
(A) A8 () =mTEE
(C) sneee (D) =e
T W T ] —

(A) T (B} FErE
(C) w==a (D) =
AW FoRR T & T 0 T S
(A) TS (B} wdmdR
(Cy  afeEd (D) s

T - 4 T T = s 07

{A) =t By foragm
(Cy Temst (D =F==Tn
e (oA S ar?

(A) e (B) o
(C) e (D) i
WA 1 TEE uifE oy ¥ —

(A) itm s amfam

(B) e SR e
(C) =mfas sin 1 sdwa
(D 7 e =4

aifirs ST T W |
(A) s O
(B) e I (9T
(C) et []
(13 e e 1]

41.

43,

45,

47.

|24]

Which of the tol lowing city is not related wath
Inclus civilization?

{A) Mohanjodaro (B) Kalibanga
(C) Lothal (D) Pailipura

Which of the following was the oldest veda?
{A) Rigveda (B) Samveda
(C) Atharvaveda (D)) Yajurveda

Founder of Gupt Dyvnasty was:
(A Shree Gupt (B) Kumar Gupt
(C) SkandGupt (D) Samudra Gupt

Huen Tsang song came in the period of !
(4) Rajvardhan  (B) Harshavardhan
(C) Balivardhan (1))  Shovardhan

Which city was established by Harihar -
bukka?

{A) Bahmani
(C) Vijaynagar
(D) Mohammad Nagar

{B) Delhi

Taj Mahal was built by:
{A) Babar (B) Akbar
{C) Shahjahan (¥ Aurangzeh

Twio great Indian Epics are:

{A)  Geetaand Bible

(BY Ramayana and Mahabharat
(C)} Bible and Irani Avesta

(D) Quranand Rigveda

Who was the last Moghul Emperor?
(A)  Alamgirl

(B) Bahadurshah [1{Zafar)

{C) Farrukh Siyar 11

(D) Shahalam 11



49,

50,

sl.

53

53

ST T FE &+ W S E 67 49,
(A)  =IETE T

(B) TR

(Cy it

(D) T 4 @ wrd i

{A) 1220-22 (By 1925-26
(C) 1918-20 (D) 1s27-29

I FIEATET H IR A= W Ay

M — 51.
(A) v (B) wftamm i

(Cy fm A (D} sEm g

TR =T

(A) WE =R (B) W #fEm s2.

() FEfFmmafEn (D) mammd

T WEWUE 1 UNY TEUEY & fFW owe A

53,
gam?
(A) TR (B) #vm
(C) =g (D) =
e ue wa o gt 54,
(A 1918 (B 1919
(Cy 1920 (D) 1922
FRAE W 1 e e s5.
(A) rTarEE
By =9 =R
(C) = R Em
(D)} Hre= =

Who was the first president of Indian
Mational Congress?

(A} DBomesh Chandra Banerjee

(B} Jawaharlal Nehru

(C) Gandhiji

i None of the above

MNon Co-operation movement continued till

(A) 1920-22 (B) 1925-26

(C) 1918-20 (D) 1927-29

Lala Lajpat Rai led the extremist movement
im:

(A) Punjab {B) Haryana
(C) Sindh (D) Awadh
Doctrine of lapse policy is related to

(A) Lord Dalhousi (B) Lord Hesting
(C)  'William Bentick (D) Sir Thomas Ro

Which city of Madhya Pradesh “Jhanda
Satvagrah™ was started?

(A)  Indore (B) Sagar

(C)  Jabalpur (D} Bhopal

When was the Rowlatt Act passed?
(A) 1918 (B) 1919
(C) 1920 (D) 1922

Who established * Forward Block™?
{A) Bhagat Singh

(B) Chandrashekhar Azad

{C) Rashihari Bose

(D) Subhash Chandra Bose

[29]
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59,

.

hl.

VI

GEOGRAPHY
e S0 VA o (o T 8RR T £7 56. Tropic of Cancer’ passes through how many
{AY W= (HBy states of India?
Yy = iy 7= (A) Five @) Six
(C} Seven (D) Eight

weEwem v foe 10as € Ben d= d dm o
Hy?

(A) =hmasfem (B fied gim
(C) WA=z (D) e
FHEEA T FErEr g9 TaE W g gl ) Hem
wme fieedt &7

{A) 385 {By 209

{C) 436 (D) 572

TR FET w5 a9 g # e —

(A) % o T ¥

(B) T T I S FRW Far e T o @

(C) w941 3 T4 § F7F 309 T ¢ A
TR WA B S0 Bal B A |

(D) 5% &R 7 A7 TR TES T

= o | fiem oen | st vl b faedt ot o
R B2

(A) 7@ {(By tam
() mamEm (I} wErre
e d 9 = T F I e e 8
(A} =W By e
(C) ==n (y ==

|30]

T

61,

In which of the following area the ozone hole
was observed for the first time in 19857

IAL SouthAmerica (B) Western Europe
(C)  Antarctica (D) Alaska

How many islands are there in Andaman and
Micobar Islands?
(A} 3B3
() 436

(B) 200
(D) 572

Rajasthan receives very little rain because:

(A) Itistoo hot

(B} Due to scarcity of water the winds
remain dry.

(€} The winds do not come across any
barrier in their path hence are not
uplifted to get cool.

(D) Monsoon fails to reach this area.

In which of the following states Black and
Fegur soil 15 not found?

(A)  Gujasat (B) Punjab

(C) Madhya Pradesh (D) Maharashira

Which of the following is the place of origin of
Chambal River?
(A} Mhow

(C)  Mandsaur

(B) Neemuch
(D) Khandwa
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64,

5.

b,

7.

tha A forn waEm i a=t o W 62
(A) T wizgdty vl 7=

(B) e as

(C) =rm=s

(D) e =9

wirE Wiy e 1 @ fen 7 T w87

{A) TAEH (B) Fem
(C) W= (Dy T

f= & i F =l T=ReE W AR A et
#7

(A) ==
(C)y =

B) ==
(D) =

frefatmm § & 39 O 522 o S =
Eink

(A) T (B) =mm
(C) ¥= (D) = =
“amemEe ' ufag ¥ —

(A) ThER TeET & T

(B)y = wm & fog

(C) o % FrEre & fom

(Dy ¥ EwEs

" ITETY V- A wea e e &7
(A) T (By fawsh
(C) Hermas (D) SHAEHEE

62

67.

[31]

In which type of forests mangrove trees are
found?

(A) Tropical reinforests

(B) Temperate forests

(C)  Tidal forests

(D} Thomy forests

Hirakund Dam is built on which of the

following rivers?
(A} Sathy (B) Krishna
(C}  Mahanadi (D) Ganga

Which of the following rivers join the sea

through an estuary?
{A) Ghaghma (B} Son
(C) Narmada (D) Gandak

Which of the following rocks do not contain
fossils?

(A) Marble
(C)  Shale

(B} Igneous
(I Sandstone

. “Balaghat” is known for :

(A) Manganese production
(B) Religious place

{C)  Railway workshop
(M) Diamond production

Where is Mational Geothermal Research
Institute situated?

(A} Mumbai (B} Delhi

() Hyderabad () Ahmedabad

P.T.0.
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69,

T,

(B 0]
(D) wrEEE

(A) =mEe

() ToR-ErE

2011 F WA ¥ IO T W ATHE
el ki keack: B F

(A) freras =

(B) FFEE .

() aEy

(D) frmm

A # e A R w A e e £

(A) TREM (B) R
(C) i (D) T

69.

T0.

Which of the following is not a kharif crop?
(A) Rice

(B) Pulses

(C) Jowar - Bajra (Sorghum - Pearl millet)
(o) Soyabean

Which state has the lowest population density
according to 2011 census?

(A) Himachal Pradesh

(B} Arunachal Pradesh

(C) Assam

Ty Mizoram

Which of the following is the biggest port
in India?

(&) Paradeep
(C) Kandla

(B)  Tuticorin
(D) Mumbai

[32]



71.

T2

74.

75

AR e

CIVICS
WA 1 HEEE i 71.
(A) =N
(B} ==m

s i Hftas # e s fen ad wfe
fardy i 7

(A) 1975 B
(C) w77 ()

1976
1978

mamen ¥ faum o F w21 =1 gEn feadt
2?7

(A) 228 (B) 229

(C) 230 Dy 231

v wiaur fra fif & oae § smme
(A) 26 WaE 1949
(B) 26 97 1950
(C) 26 9T 1949
(D)} 25 7E"T 1950

v % e e s 5 Pl el gm
W ot &

{A) Tafa

(B W

(C) =9

(D) e

73

74,

75.

Indian Constitution is ..................
(A) Flexible

(B} Rigd

{C)  Flexible and Rigid both

{0 None of the above

Fundamental duties are included in the
constitution of India in which year?
(A} 1975 (B) 1976
(Cy 19377 (D) 1978

How many seals are there in state legislation
assembly in Madhya Pradesh?

(A) 228 (B) 229

() 230 () 231

U which date Indian Constitutition came into
effect?

(A} 26 January 1949

(B) 26 January 1950

(C) 26November 1949

(I 26 November 1950

The Chief Election Commissioner of India is
appoinied by -

(A) President

(B)  Prime Minister

(Cy  Govemnor

() Speaker of Lok Sabha

(33]
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T6.

The

T8

AV

ECONOMICS
A J if gun e s . T g T6.  When was land reform programme introduced
(A) AfEssmd in India?
(B) qm A (A} During Vedic Period
(Cy  fafem wmm o (B During Mughal Period
(D) = (C)  During British Period

AT H T WO SA-H TN 9= = T

47
(A)y i (B) vamEd
(C) e () =gt

Freforfian 4 4 S5 Tawdl T = F 98
T 7

(A) e it

(B) e e

(C)  viwaeme

(D) e v

farera i aram wegwiy fem doit o s &2
(A) Tawfam mog

(B) wdfashm T

(C) Tawmmi= 7

D) bl T

‘Fru' w1 FrefafEm o % &8 o3 o wiEtem
i wmm &7

(A) s drs

By ffros 49

() ﬁ?ﬂﬂﬁﬁh

(D) Fwfe | & &1 7

T8.

{13 Afier Independence

Which five year plan is continuing in India, at
present?

(A} Fifth B
(€} Sixteenth (i

Eleventh
Twelfth

Who among the following was great exponent
of Panchayati Raj System”

(A) Mahatma Gandhi

(B}  Jawaharlal Nehru

(C)  Shankar Dayal Sharma

(I Lalbahadur Shastr

As per development, Madhya Pradesh comes
in which category?

(A)
() Under-developed state
(Ch
()

Developed state

Developing state

Lin-developed state

‘Education’ isinchuded in which of the following
gector?

{(A) Prmary sector

(B} Secondary sector

(C)

(L)

Tertiary sector
Mone of the above

[34]
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TioTe
MATHEMATICS

At L =i walE A § A A 39w TTag=m
B ALUA =
(A) U
) A

B) ¢
() A

T #HF T et v o w0 o TR F W
T & | T S W e wwe |, @ Hen
18 =3 § 7l & | 7| we # -

(A) 24 B} 36

)y 39 D) 42

afe mEEtn v ABC & tanB=3 m
sinB dfrcosBEAAE ;

¥3
"3

Lk

(A) 0.1 (B)

(I

I
"2

1 1
© FE

T WIE W wE e T 27,000=00 # 9w vwE
wivaes d T 2,400=00 =9 ¥8 %1 9% 9%
T 33.810=00 # &=, 7= =0w =0 i #m
(A) 5% (B) 107
iy 15% oy 20%%

% o=l =1 TF 70 T T w0 |y T

¥ I A Wi

o 3 A

@ 7 ® 3
2 3

(8] 3 (D) 3

84,

1331

IF1) 15 any universal set and A is the subset of
U, then ALUA =

(A) U B ¢

(C) A (D) A

In & two digit number, the numbér of ten's place
is double of the number of unit’s place. If we
exchange the numbers mutually then the mimber
decreases by 18, then the number is -

(A) 24 (B) 36
(C) 39 D) 42

Ifinarightangled triangle ABC tan B =3 |

then value of sin Band cos B is :
1 43
Ay 0] —_—
(A) (B) 32
1 43
B EE Wy

The cost price of a horse is ¥ 27,000=00 and
transportation charges are ¥ 2, 400=00. If
horse is sold in ¥ 33,810=00. The percentage
of profit will be ;

(A) 5% (B) 10%

iy 15% (D) 20%

T'wo coins are tossed simultanecusly, the

probability of getting at least one head is—
3 2
(A 1 (B) 3
2 k!
() 3 D) ]
P.T.O,
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21.

TF TR F A 2744 om? #) ToE gei
&I BT :

(A) 196em* (B)
(C) T84em? ()

1176 cms
B8 em?

e FEEEE fqw = FEE o om §oEw
B B -

(A 242 em?
(C) 23em?

(B)
(D)

-Ifm"i cm?
Euﬁ r_'I'I't2

o= sl 1 e g % we faged @

Forer ) s wE -

(4) WHRT{R  (B)

(C) Wi (D) s

10 em =1 5/ FE=gE 3 7 fow w1
12 em ¥, 20t fa=ni =i wend w0

(A} 4cm (BY ®cm

(C) 12cm M l16cm

afz faya ABC % ¥ %wm : (0, 6). (-5, 3)
aw (3, 1) & ma fnm g

(A) HEIZEE (B) wufg
{Cy wH=E Dy T Awe =

faig P(= 4, 2) ® Q(8, 3) % Tirer =1 T =1
y-31y T argom F favsa s &
YRR By 13
(Cy 21 Dy 1.2

%6.

§7.

59,

i,

9.

[36]

The volume of a cube is 2744 cm?. lts surface

aren 15 —

(A} 196cm? (B 1176cm?®
(C} 7R4em? (D) 588cm?

The height of an equilateral tnangle s J6 -
Its areais —

(A) 242 em?
€y 2Hem?

(B)
(L)

E\,I"E cmz

Lﬁ-n:m3

The line segment joining the mid-points of the
adjacent sides of a quadrilateral -
{A) Parallelogram

(C) Rhombus

(B} Square
(D) Rectangle

In & thombus of side 10 cm, one of the diagonal
15 12 cm long, the length of second diagonal
will be —

{(A) 4ecm
(C)

(B) Bom
12¢cm 1 léoem

If the vertices of a nangle ABC are {0, &),
{~5, 3pand (3, 1 respectively. Then tnangle is —
(A)  Isosceles (B}  Equilateral
{C) Rightanpled () Moneofthese

v-axis divides the line joining the points
P-4, 2) and OB, 3)in the ratio ;
Ay 3 By I3
(C) 2l Dy 12
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93,

95.

97.

costx —sintx =

2ein®x -1 2

(A) (B 1-2cosx
(C) sinfx-cos®x (D) TR wr
Ml+sin®  [I-sin@

-+ ]
Vi-sin® Y1+sin8

2 2
(A) sin B (B) cos B

2 2
() tan & (D} cot @

3

Esin{A+B)=1mmcos(A-B)= 2 L
ATEDB %R
(A) 45° 45° (B

(C) o0° 307 (D)

i0e, 45°
ﬂ.u-1 g{°

a3 4 x4 d=0 ST
(A} arafEEr | s

(B) =mAfE a wam

(Cy  Feafs

(D awafEE 5w e

U SR 879 =T wiifist §2 o & o geen
ﬂmdmﬂiﬂﬂilmrﬁaﬁ#ﬂm:
(A) 9T By 12 5=
(C) 16 (D) 25\

ot HEal & = s 180 &S 8w
HEn # W aE W w8 T w9, gm aei
weAm &

(A) 32,4 (B)
(C) 16,2 (D)

74, 8
18,12

23,

94.

93,

96.

97,

1371

cos? x —sint x =

(A} 2sinix-1 M 1 -2 cosx
(C)  sin® x—costx Dy MNome ol these
I|]+5='m §] R II'i—s.i-ﬁ B =

Vi1-sinB Yl+sin

2 2
(A} simn LB} cos

2 2
(€} tam @ L) col @
Ifsin{A+B)=1 and cos(A —HJ=% '
then the values of A and B are :
(A) 45 45° (B) 30° 45°
(Cy 60", 30 iy 08 90°

The roots of the equation 3x° —443x+4 =0
are :

(A) Realand unequal

(B) Real and equal

(C)  Imaginary

(I3} Real and Imaginary both

The perimeter of' a rectangular field is 82 meters
and area is 400 meter?? Then the breadth of
the field 15

(A) 9meter (B) 12 meter

() 16 meter (DY 25 meter

The difference of the squares of two numbers is
180. The square of the smaller number is B
times the larger number. The two numbers ane:

(A) 32.4 (B) 24.8%
C) 16,2 (D) 18,12

P.T.O.



98, @ weEn wwhe demsid & &l w5 ogm 421

99,

i &
(A) 14,15 (B 21,22
(Cy 9,10 D 17,18

AR e x + 2y =6, 3x + 6y = 1§
(A) #FEMWE

(B) T afae w@ vam ¥

(C) e w@ Tam &

(D) == @ A

100, =ft ot 3=m = sman =t 5= ¢ 8, T Tt

Far b W1, T8 e wep O SR w
(A} 2rrh

(B)  2mch+ 2mr

() mr'h

(D) ¥ & =rf 786

98,

99.

100,

The sum of squares of the two consecutive
natural numbers is 42 1, the numbers are

(A} 14,15 (B) 21,22
(Cy 9,10 {(Dy 17,18
The system of equations -
x+2y=6,3x+6y=18

{A) lsinconsistent

{B) Hasaunique solution

{C}  Hasaninfinite number of solutions
([0} None ofthese

If r is the radius of the base of a cylinderand h
is the height of cylinder, then total surfiace area
will be :

(A} 2rrh

(B) 2xrrh+2ne’

(©) =r'h

(D) MNone of thess

[38]
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